Symbol NO. ..o RE-109'DC

SEE 2074 (2018)
afvward wiforg

feguer Fdmar smaTAT SR gl fasivTore SR R
qHI: 3 "l qUIg® - 400

Y TIEEH JuX fEE |

Answer all the questions.
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The marked price of an article is Rs. x. If a discount of Rs. y is
allowed on it, what is the discount percent? Write it.
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What is the total surface are of a square based pyramid having base
side a cm and slant height b cm? Write it.
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Write down the order of surd in J}' .
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If the lower limit of the first quartile class is L, frequency of that class
is f, class interval i, sum of the frequencies N and the cumulative
frequency of preceding class is c.f., then write the formula for finding
the first quartile.
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What is the relation between the areas of triangle PQR and SQR

standing on the same base QR and between the same parallel lines
QR and PS? Write it.
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In the given circle, O is the centre of circle. Which
angle is equal to ZPQT? Write it.

g ‘@ (Group 'B') [4X(2+2)+3X(2+2+2)=34]

AN ST 1=T & 105 fagua g | i v T A {1 10% o Fa¥ed
T s Aarelt ® 173250 faa i st ser dred afeeg » e |
It is given that 1 American dollar = NRs. 105. If the Nepali currency is
devaluated by 10% at this rate, how many American dollars can be
exchanged with NRs. 173,250 Find it.
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In the beginning of 2072 B.S., the population of a town was 50,000 . If

the annual population growth rate is 10%, what will be the population
of the town at the end of 2074 B.S? Find it.

Tl SAATHIR T TATEHH GHaT 673.75 e g 1 afs agaht I=1% 1.75
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The capacity of a cylindrical water tank is 673.75 litres. If its height is
1.75 meter, then find the radius of the base.

AT TIST AT I TAeH! &Ahed 1848 a7 &Y. 9T TG aAefea =il
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If the total surface area of a hemi-sphere is 1848 square cm, then find
its radius. ' ,
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If the height of a cone is three times the radius of the base and its
volume is 133 17 cubic cm then find the radius of the base of the cone.

7.9, 91 @S Tarq (Find the H.C.F. of) :
b>-b+1 and b*+b

& TR (Solve) : 4x2—4 =2x-2

()

A a =4, b=4"T av.b*= 16 T THNT T xp= 1.

If a=4~, b =4Yand a.b* = 16 then prove that: xy = 1.
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a—b_a2 -b*

I e (Simplify) :

T e (Simplify) : e2+ef+f2+e2—ef+f2 )
e+ f e—f
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In the figure, PQRS is a rectangle, in which PQ =3 PS =12 cm. RS is
extended up to the point M, what is the area of APQM? Find it.
it P O Fa7ah dwsferg 1 | A LSMR=320 T
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In the adjoining figure, O is the centre of a circle.
If ZSMR =32°, find the values of the ZSRM and
ZMPS.

feT P gaal &= T TO @eiar g | afs TO =12
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In the figure, P is centre of circle and TO is tangent Te—m—0

to the circle. If TO = 12 cm and PO = 5 cm, then
what is the length of PT? Find it.
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In the given ATAP, LTAP = 50°, LTPA = 70°,
TP =6 cm and area of ATAP = 18 sq.cm, find the length of TA.

TSl MR ST ST X FesTe A% AR (2fx) =460 +23a
g | Al AR AR (Zf) =20 + 2 91T & Avfidt weAF (x) F AW
frepteer |

In a continuous series, the sum of the product of the frequencies and
mid-values (2fx) = 460 +23a. If the sum of the frequencies
(Zf) = 20+a, find the value of the mean ()_c) of the series.

R
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A fair coin is tossed and at the same time a fair die is rolled. What is
the probability of getting head in coin and 5 in die? Find it.
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A bag contains 8 green and 10 yellow lemons of same size and shape.

Two lemons are drawn randomly in succession without replacement.
Show the probabilities of all possible outcomes in a tree diagram.

E T (Group 'C") [10x4=40]

T3 TRUTAETS! FATEHT P T Q 35 SHHIATER WA YT ATRT Iog T T8l
HARTTR AT 40000 ST WS | HARTAT Ueh TAIATS 71 AT Geieqa it | 20000
ST P AT, & 15000 S Q @TE T 3000 ST gaeTs 9f A U |

In an election of a municipality two candidates P and Q stood for the post
of Mayor and 40000 people were in the voter list. Voters were supposed
to cast the vote for a single candidate. 20000 people cast vote for P, 15000
people cast for Q and 3000 people cast vote even for both.

(i) & TS TReT ATl J&d THar |
Show these information in a Venn-diagram.
(ii) Bl AT T GETATA ? TAT AMS TN |

How many people didn't cast vote? Find it.
(iii) T e F&X AT 7 T ANISRI |

How many votes were valid? Find it.

TS HiaTgAS! st qeAAT 20% ge 6% 15% Ao Aty & ameL ated |
AT .30, FAeqH o0 T FUGH! ead e Tl €. 1800 9T Aiargaa sfed
A T AMSTEE |

After allowing 20% discount on the marked price of a Mobile, 15% VAT
was levied and sold it. If the differences between selling price with VAT

and selling price after discount is Rs. 1800, find the marked price of that
Mobile.
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The sides of a triangular field are in the ratio of 5 : 6 : 7. If its perimeter is
1800 m., what is the area of that field? Find it.

.9, aeTed (Find the L.C.M of) :

p*+p’-p’-p, p*-p and 4p*-4
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The sum of the digits in a two digits number is 7. If 45 is subtracted from
the number the places of the digits are interchanged. Find the initial number.

U9 AR PQ T I& FuII=R @rex PQ X SR = aw@t APQR T APQS
Pl EARAEE T Grgel, WAl TR i |

Prove that the areas of triangles PQR and PQS standing on the same base PQ
and between the same parallel lines PQ and SR are equal.

g 7.5 4.0, LSS 6.5 A7, TS AATH FAFEHT A g T4 8T
F0T 300 T PIETET T T |

Construct a rectangle with length 7.5 cm and breadth 6.5 cm. Also construct
a triangle having one angle 30°and equal in the area of the rectangle.

TG TS LKL 1 T E FIUTeRe el qFaed RINET @rell Terg | (@i
399, srdeTe U gEsiier aueE AL )

Explore experimentally the relationship between opposite angles of a cyclic
quadrilateral IJKL. (Two circles having radii at least 3 cm are necessary)

T3 AR G@dar A 130 e g | I @l e {=mT T3er v
MU B | TIeT Afhel Wit fErre & fagare @Faredr gutat Iedie
0T Q0 Ty | Afy drEder fewg 3 frex T @verer ITg 68 fire g 0° @
HIF gl ARSI |

The diameter of a circular pond is 130 meter and a pillar is fixed at the

centre of pond. A person finds the angle of elevation 6° of the top of the
pillar from a point of the bank of the pond. If the depth of the pond is 3

meter and height of the pillar is 68 m. then find the value of 6°.
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Find the value of x if third quartile (Q,) of the data given below is 128:

A

R

R

RY¥.

ST (Wages Rs/hr.) 0-30 [30-60 |60-90 |90-120 [120-150 | 150-180
FMER J&T (No.of workers) | 2 8 22 24 x 9
e ‘®@’ (Group 'D") [4x5=20]

T3l el @rar M AT 10% Sy srefariies wgne same< T @rar N a1 15%
gty aTifer TIghiT SATOER 1AW TG G | AT qUIE 2 TUHT AR & 40,000 I
SBHT STHAT 1S G185 WA & ETATHT ST g T ol ? U1 T Iuraiea
SeiE TR |

A bank has fixed the rate of interest 10% per annum semi-annually
compound interest in account M and 12% per annum annually compound
interest in account N. If you are going to deposit Rs. 40,000 for 2 years in
the same bank, in which account will you deposit and why? Give your
reason with calculation.

TS UTHY TATEHIS qecll WIT ST T AFHI SNt g T swal g |
TATEHF T I1F 15 X g T e 8t 154 aaiiex 9T Sch eaTga
yiaferet & 0.35 F 3 U 97 AT FIT @9 ARG ? Tl SR, |

A water tank is formed with the combination of cylinder in the lower part
and hemisphere above it. The total height of the tank is 15 m and base
area is 154 sq. m. If the tank is filled with water at the rate of Rs. 0.35 per
litre, what is the total cost for the water? Find it.
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PQRS T3eT 9o aq &1 | I ZQPS T LQRS &1 Htidhaeel gaiells FHH:
fovgE® M T N AT 9egi 9 MN Ja@! @19 & wet JHI T |

PQRS is a cyclic quadrilateral. If the bisectors of ZQPS and ZQRS meet
the circle at the points M and N respectively, then prove that MN is the
diameter of the circle.
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